Department of Materials Science and Engineering
Pohang University of Science and Technology

AMSE205 Thermodynamics I

due date: Oct. 26, 2021 Prof. Byeong-Joo Lee
Problem Set #3 calphad@postech.ac.kr
Room 1-311

1. Calculate 4H;600 and A4S1600 for the reaction Zr(B) + Oz = ZrO(B).
(Utilize the Tables in the APPENDIX of the textbook.)

2. Calculate the value of 4G for the reaction
Si3N4 + 3 Oz = 3 SiO» (a-quartz) + 2 N»

at 800 K. What percentage error occurs if it is assumed that AC,, for the reaction is zero?
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1. Calculate 4H;i600 and A4S;s00 for the reaction Zr(B) + Oz = ZrO2(p). g

(Utilize the Tables in the APPENDIX of the textbook.)
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2. Calculate the value of AG for the reaction

Si3Ns + 3 O2 =3 SiOs (a-quartz) + 2 N2

at 800 K. What percentage error occurs if it is assumed that 4C, for the reaction is zero?
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